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PROGRAMMESWITH INTAKE

Medium of Instruction:

The medium of ingtruction for al the Hons (UG) instruction and examinations for al the UG, PG
programmes shall be either English or Hindi (except programmes shall be English (Except the language
the language programmes).The medium of progranmes).

Admissions for 2018-19 are open for the following programmes:

Honours (UG) Programmes 6 semesters I
S.

No Programmes of Study Intake
B.A. (Hons) Programmes
1 B.A (Hons) - Tribd Studies 20

Pr ofessional Cour ses

ﬁ(’) Programmes of Study Intake
1 Bachelor in Pharmacy ( Latera Entry) 06

Masters, Degree Programmes (4 Semesters)

Sl. Programmes of Study Intake
1 Linguigtics 20

2 Tribal Studies N R
15

3 Statistics
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IMPORTANT DATES

Issue of Admission notification 25 06-2018
Online application begins on 25-06-2018
Online application closes on 18 -07-2018
Downloadl ng of hall ticket using user ID and password generated by the 19 -07-2018
candidate at the onward
time of application
Date of Entrance Examination 22-07-2018
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